5.8 Inverse Trig Functions and Differentiation

REVIEW OF INVERSE TRIG FUNCTIONS


Recall that a function must be one-to-one in order to have an inverse.  If the function is not one-to-one, we can restrict the domain to create a one-to-one portion of the function.  We have to do this for all trig functions, since none of them are one-to-one.


For example, the graph of y = sin x is one-to-one on the interval 
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.   We can find the inverse of  y = sin x as follows:




Graph the inverse:
EVALUATE INVERSE TRIG FUNCTIONS


It’s important to remember that the value of an inverse trig function is an ANGLE!  Remember this when you evaluate the following:
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6.  Solve for x:
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DOMAINS AND RANGES FOR INVERSE TRIG FUNCTIONS
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***MEMORIZE THESE***

DERIVATIVES OF INVERSE TRIG FUNCTIONS
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EXAMPLES:  Find the derivative of each function.  Simplify your answers.
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